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1, The first Bullet train in Incka will connect_____ 7 / srem o g e 2 ﬁ__,»,mm\
A. Deitv and Ahmedabad B Ahﬂ'ledabadand»\grr
/ femdh 8 3w | 3EmzIA: 3 A, .
C. Delh and Mumbas / et 3 svard D. Ahmedabad ané Mumba
3 8 g
2.\.»;Eis!'lndaCanpmy'uasfmanmﬂ!tz:&lmﬂ'ﬁmhu‘tg{ﬁ#
A. 1600 B. 1598
C. e D. 160 f
3. Who invented the ‘Computer” ? /
A. Emnsten / smg=fz=

C. Charles Babbage / oved

4. Where is 'Nahona! Museum o
A. Bangalore / ey

( Dedhi / el
5" "One people, One state, One leagd : ,MWAEB#T‘B‘@?I‘W@’
A. Stahn/ wifas ‘;\ '.:;\_;‘*
J (‘\\ 1L " L
C. Mussoin / gerfarch AL\ 7 -
Yo\

6. Houmanycoumnyaremm

PRI & 2] 2P %m o

o m‘"?';;""f‘e't s do it boretkes !

8. mcoepesroceanotmewoddts_,____?fﬁaummm 27
A. Indian Ocean / fz wEramT B. Atlantc Ocean [ 3zenfees meram
C. Arctic Ocean / 3m&Zs sEranR D. Pacific Ocean / g RETATR
9. m?tmramrd ‘Russian Revoluton” 7 / T afer @ s & ww e £ 2
A Lenin / B. George Washington / 3 anfrme=
*. Adolt Hitler / egvee fezer D. Max Muller / #aet 5o AR\
10. mdmalexs'Akmrdumrenw‘med?fmmw&z'hmﬁﬁmb o '-,-:;\_\‘i’
ﬁﬁlvﬂ A. Haryana / gframn - B Tamd Nadu / aftrer =g (\ \(,\)
C. Andhra Pradesh / 3mu 2w D. Gujarat / T (\\ \('\>
(e
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L1, Whe 1 the lamest populated stale of India 7 / siraey a s 3tz v amen s it w1 8 7
A. Ragasthan / T B Maoml"-}k’sn gl
« C. Uttar Pradesh / Jvre wiw F h Mahargshifa | ARG

12, Which among followwnq n'twe cs:\lqol Gnhamsq.?n? Py A a’lm‘lﬂma‘h R et @R
A. Plaspur ft?'rmm N O 7 \yderabad | fzame
VG {wmum in?ﬂ W 2 D. Rapur / Trage

IJ.. What rsthenameolla ges! irngabon canal in India ? fmhmmgﬁmmmmh

A7 UA. Indra Gandhi canal / g e e B. Upper Bhan Doab canal, % L. 5"
(st vt emg e W E

C. Yamuna canal / own Te D. Srhand candlt Rggre e
)
14. The tenure of Vice President is of how many years ? / Jurgufh mt srdemws fiser ol o e @ 7
. A Jyears /3 od B. 6years /6ot
3V C. sYears/suh D. 2Years/2 o4
1S. “Kalahan desert 1s located in which country? / “wremerd) seseum fsw 2w 2 Fruay &7
A. South Ainca / Zfaro e B. Chie/ forft
C. Inda / W D. Saud Araba / w52 3w

General Science (Question number 16 10 30)/

16. 32° Fahrenhed equaisto __

7t MR 0 ‘_,\\'\'\'.‘_
'_ = ’ -‘. ~‘;. ‘I,_‘
C. u4C B i}\\ \...-':__.....d
17, The Und of measunng Ast .@M;", b &
A, Kiometer / Frehiize N ) L
C. Lght Year / ymre ad [yt
l}. Which of the followng is not an a7
. A. Computer / &= i) :\*
@ C. Rado ?‘%dl Telewision / M‘.ga o® ot
19, WdrmrulmmHPEﬂxaﬁxﬁﬁt v g # 9
. A. OQJNWﬂvm
C. copmirutwm@d'S dO itotagether !!
20. Whal is the und of Resistance ? / yfird a1 s war &7
‘A, Ampere /TRYTR B. Watl /3%
C. Ohm /3w D. Coulomb / peva
21. What is the chemical formuia of common salt 7 / FRAToY e w1 ety g s # 2 \f\\
- *A Ca B KCI ‘,. : \\_\“l'}‘-,
fuﬂﬂ C. NaCl D. H0 s Kﬁﬁ‘"
y o 8 (
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2. The nealng umnmms:huemmdmw‘*f&m&&:ﬂuwaﬂtﬁmmmwt”

A Nchrome / Prsim
C. Copper =
23 W\enbiuehmmpmateplf&f"& te ' —
m:‘im!nqm jmngqmm r"ﬂﬁﬁrtﬁmn&nmmﬁmp
\A 'HOI'GHQH'I ‘.‘__‘ -
batt Grven - Rt e D. Red e a
\ﬁmammmfuommu 7m0 G ARty e MR " oA
A. 332 minsec | 332 MzURts B. 211 minsec 211§ Bt X,
C. 350 mirsec /350 Sy D. xominseci® Y
25. Speedof sond s measuredin 7 ey w8 3R £
y 1\:&‘“':{3 _ B. Decbel/ ¥rm®
©VC MeterSecond e/ . D Hoursim
26, . Defaency of Vitamn C nhmMMMN w
A. Nght Bindness /et . '
C. Goter /9o \ | ¥ . - - S
27, Man consttuent of Natural gass - = ‘,J,,*
A. Bulane a2 J 901
C. Propane ‘st - ) .
28, metal was used ? yﬂmmmmmmﬂdwwﬁp
HA - B. Iron . s (\ -~
C D Aumnum | eegivn {’\“
29. dOtmmmrmiMFnMMQﬁ\ rk
B. ®% &
C. v AL D ‘ﬂr‘ _;J"
30. mmaaummfmpmm%% I
G ?n FrfEm o A m o - -
g A S
C. Orange / I/t D. Yelmrﬂlm it P <
Section-C N

Mathematics (Question number 31 10 45) / moval (gt vt 31 R 45 o5m) e
31. How many rectangular plots of dmensions 40 m by 60 m can be made from a rectangular fieid of dimensions 120 m by 180 m
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o 120 @ 3 160 B ¥ TR Az A 40 M 3R 60 B Faerd dum gm w22
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& D i'W%Mcdardamm\gbdlwumwummmw then length of base is ? e
G2 e s g a8 9 3R e dore 20 o @ 2 I Sure ot g e g 2
A. 0scm . os RoR [‘“\ zcacmr

P\\ocm a&\’l

33, HCF of two lhehpaxs 3 nm&omr)wmewmmmn
(’ -mﬁ“ mmmhm! uﬁnﬁimmnlrﬁwﬂmwm’
B ®

\\JF pw s Fﬁi\

" Cmcmoum

14 mtﬂbelrnmdmmeslammumuudmdgm* ’

(4 38 ) wad wd st OA) e m Sewa aa @ 2 (\) l T
A B9 B. o )
C. M D, 10989 .

can 00 a work in 20 aays then in how many days the same work can be completed by 40 peopie 7
@\afammﬂmmmm&aammmwmmwmwmaw»

A 10 | B ® | »

W Tl D, et
36. thqvmmcunpletlﬂ'\earm 7.14,28,86, (). /R0 md Flmedt @ A M g w7 14, 28, .1
A 10 o B. 100 v &
C. 2 S s | D 1$ : “,,*

/7_ laqummanmulmmawmmawaprdmdnmmwmmmdmv
‘TElwsirsomaltm sk QR Ao e g s pm?

bg. RS 100 ' 100 & B. Rso0/w0® . |
HMVC. Reno /10 D. As11s/115% . {'\Q
38, A sum of money becomes Rs. 900 in 4 yr at 5% per annum on Simple Interest The surh ™2, A\
! U ST O 5% & R v g owh 4 o & e 900 Tl B R &) Ww o,
A As 750 B. Rs&so \ P
C. Rs5%0 D. Rssi CM \\ 3

39. Wﬂhﬂwd“smﬂm‘MWﬁWnﬁmmm?
B . :
o ¢ b QLQ“"‘* .

40 cmm:smmmmnasmumim? . )

A 136 B. 140 o
C. 1% <owmie D, 126 :
. Salary of a man was Rs 20,000/ The same was ncreased by 16% Fm&emsalam N——
| o wn Y AT 20,0000 & u&mﬂumq&?ﬂtm#mmm’ |
A 21600 - B. 24800 -j 3 ) ) ;
C 29600 D. 22800 s Gy
42, Mdmm"pmdwﬂmiﬂdnhﬁr#uﬂ? (&\.
(A 1681 ) .B. 70 (l J’\.‘)_\“t W
-,‘\Pa C. 193% S D. 1520 N

- ®
p v S a
Ve ‘ RN \( 57



43, 11515 added 10 twice ol a number t becomes 6, then Lthe number is 7 Lo
rUﬁ'-%a:mwnw&mmmMSnmmmnoTi{ﬁmmmmo

g 08 B0 | .. ' gt 73
AT U
44 Whahstpuqﬁl 496!1@5% ‘a8 ® 6 far e vh Spaer v g 2
NA T B. 3
ﬁ \C. 4\ B D. 2 : o

\K\_&*’é zé\d’wo-'hmmi jom2s%=? \’ / f
B. . < '
C, 25 _ o D. : 01 ’* 5. M|

Section - D A N wi
logicaLu‘mﬂng(Qusﬁmnumbuumso)m&rﬂntmmhuﬂum - “AN

46. From the given options. find the next term in the senes: ABC. EFG, IJK, MNO, (_ _ )
/R Rt & @ ot % 3yen qz et @t - ABC, EFG, UK, MNO. ( _)

47. Inacertain code ‘AYS' s whtten as ‘BAT then how ‘BYS' wil be written? R e
(a4 wmnfors v & AYS' 3 BAT fran & # BYS' ® e forain? B““‘P
: )
A. CBT . B.. CAT
C. AAT D, MAT

48. the opions, ﬁndmeﬂmangmmbemmesenes -[1,4,9,16,25, %, _ 84, 81, m)]
#0122 ) s & & & i Aot R acm w1, 4,9, 16,25, 3. _ 6481, 100]

A T w B, 9 . ] %\)\)
C o7 D b

49. Vigy walks s km towards South, menhewmahnmmgwmapnns{fmb nght and wak s km._ How far is he
now from the starting point ? =\
| fara 5 s afaror RRen Y s oo &, mMﬁ%qmaMm! B G 30 e g & ot s e
aee & | a 3 3 gt we A R @ 27 by
Lo A ekm 6 R B8k sﬁnh
F’V C. akm '8fd D. 3km /3R W

50, lnacenamoodm5nmwm1enasx1'zuandz:lusNPSU'Mhowwilzasasoewmnmmsamm
?
u&mmasﬁmmﬂ1snw‘txTZALﬁrmanamesm&NPSU&mmammmmazasq :
o wan feran mam ? A ki

A. NPTUL B. NBTSL - “ it
¢ PNTISL 7 D. NPTSL SN
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